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//7 5 ZShop
public class Shop {

protected String[] mCode = { "", "MOl' "M12", ”BOl "C08" },
mName = {”, Eﬂ’\—ﬁ— %Z’\/Jr/l/ O KN—=H = " "BTHEE Y b "}
protected int[] mPrice = { 0, 220, ~ 520, 280, ~ 580 }, mSales = new int[51], mQuantity = new 1nt[5l]

private String name;

protected final int SCOPE = 10;

protected int tSales, mTSales;

public Shop(String name) {
this. name = name;

}
public String getName() {
return name;

public void calC(Strlng meCode) {
int idx = 1;
whlle(' (mCode [idx]. equals(meCode))) {

idx += 1;

M l;
mQuantity[idx] += 1;
tSales += mPricelidx];
if(idx <= SCOPE) {
nTSales += mPricelidx];

}
public void sort(Q) {
for(int j = mCode. length - 2; j > 0; j—) {

for(int k = 1; k <= j; ktt) {
if(Salesik] < o o)
mCode[O] = mCode[k]; mCode[k] = mCode[k + 17: mCode[k + 1] = mCode[0];
(B BEINTOSMEOEMTNEREHE T

}
}

}
public void output(O) {
System. out. println(name + " : Fifjx =2 —Hb")
for(int t = 1; t <= mCode. length - 1; t++) {
System. out. printf (" %3s %8s %3d % 7d¥n", mCode[t], mName[t], mQuantity[t], mSales[t]);

System. out. printf(" WGE44EET % 1d¥n", tSales);
double ratio = (double) mTSales * 100 / tSales
} System. out. printf ("FE#] # = 2 —  WRFE4%ET A, 7d HR (%) %4.1f¥n", () ] ratio);

}
//2 5 ALTShop
public class LTShop extends Shop f{
public LTShop(String name) {
super (name) ;

public void calC(Strmg meCode) {
int idx = SCOPE + 1;
) U@ é%éﬂfb‘ékiﬁ@#*ﬁlikﬁ%ﬁ-ﬁ

public void sort() {
for(int j = mCode. length - 2; 7 > 0; j—) {
for(int k = SCOPE + 1; k <= j; ktt) {
if(nSales[k] < [ FBAE D {
mCode[O] = mCode[k]; mCode[k] = mCode[k + 1]; mCodel[k + 1] = mCode[0];
() BEESNTOZMEOEINEEH 7

}
}

}
public void output(O) {
System. out. println(getName ) + " @ FLifJ* =2 =7 L");
for(int t = SCOPE + 1; t <= mCode. length - 1; t++) {
System. out. printf (" %3s %8s %3d %, 7d¥n", mCode[t], mName[t], mQuantity[t], mSales[t]);

System. out. printf (" WFe 440451 % Tdn", tSales);

}
//7 5 ZAnalysis
import java. io.BufferedReader;

public class Analysis { ) )
private static String[] sName = { "", "BREiiE", "BReIE", "BRECIE", WO JE", vy =g, NS, CREDIE" )
private static int[] oTime = { 0, 500, 630, 500, 1000, 1000, 1100, 900 }
private static Shop[] obj = new Shop[8];
public static void main(String[] args) {
for(int i = 1; i < sName. length; it++) {

@]
obj[i] = new LTShop(sName[i]);
}oelse {
objli] = new Shop(sName[i]);
}
try {

BufferedReader fileln = new BufferedReader(new FileReader("sales.csv"));
String line;
while((line = fileln. readLlne()) = nullD) {

String[] str = line.split(",

int shCode = Integer. parselnt(str[Z])

String meCode = str[3];

\ (6] l;

}
fileln. closeQ;
} catch(Exception e) {
System. out. printIn("= 5 —MFELF LA + e);

Scanner codeln = new Scanner(System. in);
System. out. print ("JE& I — F(A~D%2 AL TF&E W, —"); int sCode = codeln. nextInt(;
while(sCode != 0) f{

obj [sCode]. sort();

obj [sCode]. output Q) ;

System. out. print("JE& T — F (I~ A2 A LT FS W, —="); sCode = codeln. nextInt();

codeln. close();
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Option Explicit
Dim Smei(5) As String, Tin(15) As Long, Soe As Long, Nsyu(15, 10) As Long, Jkai(15, 10) As Long

Private Sub UserForm Initialize()
Dim Puban As Long, Pumei As Strlng, ~ Pkei(15) As Long, g As Long, Tritu(15) As Double, h As Long, j As Long, k As Long
ListBoxl. Clear: Labell.Caption = "": Label2.Caption = "
Smei(1) = "HUSEHAT": Smei(2) = "FEHAI": Smei(3) - "MBESHUEI": Smei(4) = "SAIIEUHI": Smei(5) = " hEFERR"
Open ThisWorkbook. Path & "¥puran. csv" For Input As #1
Do While Not EOF(1)
Input #1, Puban, Pumei, Ryo, Tei
Pmei(Puban) = Pumei: Rkin(Puban) = Ryo: Tin(Puban) = Tei
Loop
Close #1
Open ThisWorkbook. Path & "¥jissi.csv" For Input As #2
Do While Not EOF(2)
Input #2, Hi, Puban, Ku, Syuban, Nin
Soe = (Syuban - 1) * 2 + Ku
\ 1
Nsyu(Puban, 0) = Nsyu(Puban, 0) + Nin
Jkai(Puban, Soe) = Jkai(Puban, Soe) + 1
Jkai(Puban, 0) = Jkai(Puban, 0) + 1
Kingaku = Nin * Rkin(Puban)

If Ku = 2 Then
Kingaku = Kingaku * 1.1
End If
Pkei(Puban) = Pkei(Puban) + Kingaku
Loop
Close #2

For g =1 To 15
Tritu(g) = Nsyu(g, 0) * 100 / (Tin(g) * Jkai(g, 0))
Next g
For h = 14 To 1 Step -1
For j =1Toh
If Tritu(j) < Then
Pnei(0) = Pmei(j): Pmei(j) = Pmei(j + 1): Pmei(j + 1) = Pmei(0)
Tritu(0) = Tritu(i): Tritu(i) = Tritu(G + D: Tritu(G + 1) = Tritu(0)
Pkei(0) = Pkei(j): Pkei(j) = Pkei(j + 1): Pkei(j + 1) = Pkei(0)
Tin(0) = Tin(j): Tin(j) = Tin(j + 1): Tin(G + 1) = Tin(0)
For k = 0 To 10

Nsyu(0, k) = Nsyu(j, k): Nsyu(j, k) = Nsyu(5 + 1, k): Nsyu(5 + 1, k) = Nsyu(0, k)
Jkai(0, k) = Jkai(3, k): Jkai(j, k) = Jkai(j + 1, k): Jkai(G + 1, k) = Jkai(0, k)
Next k
End If
Next j
Next h
Pkei(0) = 0
For [ (8] ]
Labell. Caption = Labell.Caption & Pmei(g) & " " &
Format (Format (Tritu(g), "##0.0"), "@00€6") & "% "&
Format (Format (Pkei(g), "#, #i##, ##0"), "0000€00€e") & Chr(13) & Chr(10)
Pkei(0) = | @ |
ListBox1. AddItem Pmei(g)
Next g

Labell. Caption = Labell. Caption & "
ListBox1. ListIndex = 0
End Sub

op
={111}
=

" & Format(Format(Pkei(0), "##, ###, ##0"), "0000006EEE")

Private Sub 43#r Click()
Dim Idx As Long, p As Long, r As Long, Ritu As Double, Biko As String
Label2. Caption = ""
Idx = ListBoxl. ListIndex + 1
For p=1To b
Label2. Caption = Label2.Caption & Smei(p)
Forr =1 To 2
Soe = (p-1) *2+r
Ritu = Nsyu(Idx, Soe) ¥ 100 / (Tin(Idx) * Jkai(Idx, Soe))
If Ritu < 60 Then

Biko = "'
Else
Biko = " "
End If
Label2. Caption = Label2.Caption & " " & Format(Format (| (5) L, "##0"), "@ee") & " &
Format(Format(Ritu, "##0.0"), "@@00€") & "% " & Biko
Next r
Label2. Caption = Label2. Caption & Chr(13) & Chr(10)
Next p

End Sub

Private Sub #&7 Click()
End
End Sub
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